ADRENALINE™ SLIDE:

FEATURES:
Water Supply System e Rotational Molded - Polyethylene
Construction on Flume, Steps, Rails &

1_0'? Leg Supports (PVC Legs)
et Available in Available in Summit Gray Only

Right OR Left Turn Available in Right OR Left Turn
o (shown as Right Turn) 84” High at Seating Area

Flume Width = 25”
Flume Depth = 14.4”
Fantastic Water Supply System

15-25 GPM (Actual GPM rating will vary depending
on specific pool size and pool equipment used.)

Stainless Steel Hardware

e Fully Molded Treads Provide Safe
Access to Slide Flume

e Pre-launch Splash Zone™

e \Weight Limit = 300 Lbs.

\

StableSafe™

Deep Flume Pre-launch Splash Zone™
P provides slcing P N ADRENALINE™ SLIDE
o

comfort for all ages (DESCRIPTION PART NUMBER )
(Suh Pool LAdr‘enaIine Slide - right - gray Part #ADR1-CR J
o

)
m
L
o
m
2
g
>
F
1)
C
]
m
(7}

'
SAFE comes w/ss hardware
N o poe S
7/
er-foh com)S

Adrenaline Footprint for
RIGHT Turn Slide

RECOMMENDED MIN. 179.00" .
DECK AREA

SUGGESTED STUB-UP
LOCATION

96.00"

18.42"
/ 1 —

RECOMMENDED POOL EDGE 4 MIN. L;‘{vJ

MIN. DECK AREA: I

14'11'X 8 ROTATE ABOUT THIS

POINT AS DESIRED.
155.56 MAINTAIN MINIMUM

~ DISTANCES AS SHOWN.

60 TG - Rev. 12/13 to view our products online CLICK YD W W W . i nter'fab .COM



ADRENALINE™ SLIDE:

FEATURES:

Water Supply System e Rotational Molded - Polyethylene
Construction on Flume, Steps, Rails &
Leg Supports (PVC Legs)

e Available in Summit Gray Only

Available in Right OR Left Turn

84" High at Seating Area

Flume Width = 25”

Flume Depth = 14.4”

Fantastic Water Supply System

15-25 GPM (Actual GPM rating will vary depending
on specific pool size and pool equipment used.)

e Stainless Steel Hardware

e Fully Molded Treads Provide Safe
Access to Slide Flume

e Pre-launch Splash Zone™

/ e Weight Limit = 300 Lbs.

StableSafe™ <R

Available in
Right OR Left Turn
(shown as Left Turn)

(2]
03]
o]
[
>
[¢=]
e o o o o o

(7))
L
a
-
D))
-
!
=
=
L
a
0
L
o

Pre-launch Splash Zone™ Deep Flume Base o ™
provides sliding s pool§)| ADRENALINE™ SLIDE
comfort for all ages SAFE (DESCRIPTION PART NUMBER )
LAdr‘enaIine Slide - left - gray Part #ADR1-CL J

Nead more$
@ D
%rfah comlS comes w/ss hardware

Adrenaline Footprint for
LEFT Turn Slide

RECOMMENDED MIN. .
DECK AREA . 179.00

SUGGESTED STUB-UP

LOCATION

96.00"

ROTATE ABOUT THIS ' — ‘¥
POINT AS DESIRED. 4" MIN. POOL EDGE RECOMMENDED
MAINTAIN MINIMUM 14711" %8

DISTANCES AS SHOWN

155.49"

8 0 0 . 7 3 7 . 5 3 8 B CALL =y to speak to an Inter-Fab Customer Service agent TG - Rev. 12/13 61



ADRENALINE™ SLIDE (ADrR1-CR SHOWN):

DETAIL C

$30ai1s 1viLN3aIs3d

DETAIL A

wwwww
NNNNN

62 TG - Rev. 12/13 to view our products online CLICK YD W W W . i nter'fab .COM



ADRENALINE™ SLIDE (ADR1-CR SHOWN):

ALL CHART INFORMATION BELOW CORRESPONDS WITH THE DRAWING ON THE PREVIOUS PAGE.

L =mm
(DRAWING REPRESENTS THE FOLLOWING PART NUMBERS: )

L ADR1-CR & ADR1-CL )
( HARDWARE KITS/PARTS KITS — @TY. COUNTS
= | . |B|2]8]2]%
= £ 2§53 8
ITEM # COMPONENT DESCRIPTION = | = |2 |2 |2 |g |2 ]
1 ADR-R (L) ENTRY ADRENALINE RIGHT (LEFT) ENTRY 1| 1 [=
2 | ADRR (L) UPPER FLU ADRENALINE RIGHT (LEFT) UPPER FLUME 1| 1 =1
3 | ADRR(LLOWERFLU | ADRENALINE RIGHT (LEFT) LOWERFLUME | 1 | 1 o
4 ADR-R (L) EXIT ADRENALINE RIGHT (LEFT) EXIT 1| 1 =
5 ADR-R HANDRALL ADRENALINE RIGHT HANDRALL 1] 1 =
6 ADR-L HANDRALL ADRENALINE LEFT HANDRAIL 1| 1 —
7 ADR-WATER GSKT | WATER OUTLET GASKET (FACTORY INSTALLED) | 1 | 1 o
8 ADR-WATER QUTLE WATER QUTLET (FACTORY INSTALLED) 1| 1 0
9 ADR-GASKET 3/8" "U’ SHAPED FLANGE GASKET 3 | 3 i
10 H-6 X 80.375 6" X 80.375" GRAY PVC PIPE (STEP TUBE) 1| 1 o
11 XS-STEP BLOW MOLDED GRAY STEP 6 | 6
12 PEDESTAL STEP TUBE FOOT PEDESTAL GRAY 1| 1
13 H-6 X 40.750 6" X 40.750" GRAY PVC PIPE 1| 1
14 H-6 X 19.750 6" X 19.750" GRAY PVC PIPE 1| 1
15 XS-FOOT PEDESTA STRAIGHT FOOT PEDESTAL 2 | o
16 ADR-3/BX1/2 TUB 3/8" X 1/2" CLEAR VINYL TUBING 12 FT| 12 FT
17 ADR-RED CAP RED VINYL CAP 1] 1
18 ADR-3/8 HOSE 3/8" HOSE CONNECTOR 1] 1
19 ADR-16 GA WIRE 16 GA FISH WIRE 10 FT| 10 FT
20 H-5S 3/BX3 TAP 3/8" X 3" HEX HEAD TAP BOLT S.5. 15
21 H-55 3/8 FLT WA 3/8" X 1" FLAT WASHER S.5. 16 | 30| 12
22 H-5S 3/8 F NUT 3/8" FINISH NUT S.5. 15| 6
23 H-SS 3/8 LOC WA 3/8" LOCK WASHER S.S. 15 | 6 |17
24 H-.562X.390 CAP GRAY VINYL PROTECTIVE CAP 8 | 30| 12 [ 17
25 H-SS 3/8 X 9-1/2 3/8" X 9 1/2" HEX HEAD BOLT S.5. 6
26 H-5S 3/8-16X2HH 3/8" X 2" HEX HEAD BOLT S.5. 8
27 H-SS 3/8 NYLON 3/8" NYLON INSERT NUT S.5. 8
28 H-SS 3/8 WEDGE 3/8" X 2 3/4" WEDGE ANCHOR W/NUT AND FLAT WASHER S.S. 8
29 H-SS 3/8X3-1/2 W 3/8" X 3 1/2" WEDGE ANCHOR W/NUT AND FLAT WASHER S.S. 9
30 H-55 5/16X4 AT 5/16" X 4" ALL-THREAD STUD S.5. 6
31 H-55 5/16X5 AT 5/16" X 5" ALLTHREAD STUD S.5. 4
32 H-5S 5/16 SER 5/16" FLANGE NUT S 5. 16
33 H-SS 5/16X2-1/2 5/16" X 2 1/2" ALL-THREAD STUD S.5, 6
34 H-55 5/16 F WAS 5/16" FLAT WASHER S.5. 6
35 H-463X.310 CAP GRAY VINYL PROTECTIVE CAP 6
36 H-1 BALL VALVE 1" BALL VALVE SLIP GRAY (NOT SHOWN) 1% | 1
37 H-NYLON RQD NATURAL NYLON 101 .375" DIA. (NOT SHOWN) | 6* | 6*
38 H-1 SPA HOSE 1" GRAY SPA HOSE FLEX (NOT SHOWN] 12+ | 12*
39 H-ANTI-SEIZE ANTI SEIZE PACKET (NOT SHOWN) 1% | ¢
40 ADRENALINE STEP/PEDESTAL ASSEMBLY 1] )

* not pictured

NOTES:

Adrenaline slide only comes in Summit Gray
Adrenaline slide is available in a right or left turn configuration

8 0 0 . 7 3 7 . 5 3 8 B CALL =y to speak to an Inter-Fab Customer Service agent TG - Rev. 12/13 63



